v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: 5 Cyclops(42.06) #3: 3 [E].(40)
1 INS: SREER F=RHEEHO) 0 3 NS: #iR#E BRERA(BAC) 0 VP:| 10.33 : 9.67 Total VP: 35.34 Rank:
EW: $E{—5¢ MEEEC) 0 EW: 15 fREE &R &5 (FI0) 0 IMP:| 27 26 4
I
# 15 » AJ632 5HE5 -450 Mean: 5DWS5 -400 20 1 ||# 16 . T7642 4DS-3 -150 Mean: 3HW-1 100 60 1
vid 4HE5 -450 -470  5HES5 450 1.0 2 3HW4 170 -140  2SN2 110 6.0 1
* AJ Dif: 0 NS:1 4HE5 -450 1.0 2 o KQ Dif: 20 NS:0 4DS-3 150 0.0 1
» JT984 IMP: 0 EW:-1 5HXE5 650 5.0 1 » AJ832 IMP: 1 EW:1 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W~~3~2
#17 » AK5 4CXW-7 1700 Mean: 4CXW-7 1700 150 1 ||# 18 » T632 5DN6 620 Mean: 3NS6 690 80 1
v AK853 3NS3400 600  3NS3 400 50 2 v KQ6 2HS5200 340 5DN6 620 7.0 1
¢ 64 Dif: 1300 NS:15 3NN4 430 50 1 ¢ J9732 Dif: 420 NS:7 2HS5 200 40 2
» K83 IMP: 16 EW:5 3NN3 400 50 1 aJ IMP: 9 EW:4 3DN6 170 50 1
s Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
a J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~ ~~~~ W ~~~~~
#19 & K53 4HN-2 -100 Mean: 3SE-2 200 40 2 [|# 20 a 32 3CN-1-100 Mean: 2HW-2 200 70 1
v AK83 2HN3 140 70  3CN4 130 20 1 v Q 2NS-1-100 -80  3NS-1 100 1.0 1
* K2 Dif: -240 NS:-5 2HN3 140 20 1 ¢ KQJ43 Dif: 0 NS:-1  3CN-1 100 1.0 1
» 7652 IMP: -6 EW:-2 4HS-2 100 50 1 » QJ874 IMP: 0 EW:1 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 »J76 N 22~~1 v KJ9
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W~~~~~
#21 » KT 2SS2 110 Mean: 2SS4 170 40 1 ||# 22 » K92 4HWS5 -650 Mean: 4SW4 620 1.0 1
v K987 2SS2110 30  28S2 110 20 3 v 52 4SW4 -620 -660 4SE4 620 1.0 2
¢ JT863 Dif: 0 NS:2 2NS-1 100  -40 1 o AQT432 Dif: -30 NS:0 4HW5 650 0.0 1
» J6 IMP: 0 EW:-2 3NS-2 200 -6.0 1 & QT IMP: -1 EW:-1 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
oo VAN o AJ63 P OIVABN o5
N ~1~21 v54 N ~3~~~ » K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ aAQ9 E ~~45~ aA7543
W 3 ~~~~ W ~~45~
# 23 aT9 3NN5 660 Mean: 3NN5 660 00 6 ||#24 & JT53 3NE4 -430 Mean: 3DE5 150 6.0 1
v Q2 3NN5 660 660 v 82 3NE4 -430 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 K Dif: 0 NS:-2 3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: 0 EW:2
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 * 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W-~4~~3
# 25 & ATI75 5CS-1-50 Mean: 6CS7 940 50 2 ||# 26 a J32 2DW2 -90 Mean: 3DW3 110 1.0 1
v 52 6CS7940 760  6CN7 940 50 1 v A9763 2DW3 -110 -130  2DW3 110 1.0 2
*3 Dif: -990 NS:-13 6CS6 920 4.0 2 + 4 Dif: 20 NS:1  2DW2 9 1.0 2
& AK732 IMP: -14 EW:-5 5CS-1 50 130 1 & AT53 IMP: 1 EW:-1 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 + v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 3CW3 -110 Mean: 4CW-2 100 40 1 # 28 a J97 3SE3 -140 Mean: 4SXE-2 300 80 1
v KQT864 4CW-2100 -40  4CW-1 50 30 1 v J54 3SE3 -140 -50  4SE-1 50 30 1
+ A3 Dif: -210 NS:-2 2SS-1 -50 00 1 + AJ63 Dif: 0 NS:-3 3SE3 140 3.0 2
» K52 IMP: -5 EW:-4 3CW3 110 20 2 » 962 IMP: 0 EW:3 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 3.0 1 ||s Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W-~1~3-~




v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: 5 Cyclops(42.06) #3: 3 [E].(40)
2 INS: PR BREIR(EEO) 3 6 NS: il Z=5{E(FAC) 6 | VP:| 7.56 12.44| Total VP: 34.60 Rank:
EW: B35 SMREEAC) -6 EW: REFIE #EBR(BAO) -3 IMP:| 17 25 5
I
# 15 » AJ632 4HES5 -450 Mean: 5DW5 -400 20 1 ||# 16 . T7642 3HW3 -140 Mean: 3HW-1 100 60 1
vid 5HE5 -450 -470  5HE5 450 1.0 2 3HW-1100 -140 2SN2 110 6.0 1
* AJ Dif: 0 NS:1 4HE5 -450 1.0 2 o KQ Dif: -240 NS:0 4DS-3 150 0.0 1
» JT984 IMP: 0 EW:-1 5HXE5 650 5.0 1 » AJ832 IMP: -6 EW:-6 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W~~3~2
#17 » AK5 2DXW-2 300 Mean: 4CXW-7 1700 150 1 ||# 18 » T632 2DN6 170 Mean: 3NS6 690 80 1
v AK853 3NN3 400 600 3NS3 400 50 2 v KQ6 3DN6 170 340 5DN6 620 7.0 1
¢ 64 Dif: -100 NS:-7 3NN4 430 50 1 ¢ J9732 Dif: 0 NS:-5 2HS5 200 40 2
» K83 IMP: -3 EW:5 3NN3 400 50 1 aJ IMP: 0 EW:5 3DN6 170 50 1
s Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
a J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~ ~~~~ W ~~~~~
#19 & K53 3SE-2 200 Mean: 3SE-2 200 40 2 [|# 20 a 32 3NS-2 -200 Mean: 2HW-2 200 70 1
v AK83 3SE-2200 70  3CN4 130 20 1 v Q 3NS-1-100 -80  3NS-1 100 1.0 1
* K2 Dif: 0 NS:4 2HN3 140 20 1 ¢ KQJ43 Dif: 100 NS:-3 3CN-1 100 1.0 1
» 7652 IMP: 0 EW:-4 4HS-2 100 50 1 » QJ874 IMP: -3 EW:1 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 »J76 N 22~~1 v KJ9
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W~~~~~
#21 » KT 2SS2 110 Mean: 2SS4 170 40 1 ||# 22 » K92 4SEG6 -680 Mean: 4SW4 620 1.0 1
v K987 2NS-1-100 30  2SS2 110 20 3 v 52 4SE4 -620 -660 4SE4 620 1.0 2
¢ JT863 Dif: 210 NS:2 2NS-1 100  -40 1 o AQT432 Dif: -60 NS:-1 4HWS5 650 0.0 1
» J6 IMP: 5 EW:4 3NS-2 200 -6.0 1 & QT IMP: -2 EW:-1 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
oo VAN o AJ63 P OIVABN o5
N ~1~21 v54 N ~3~~~ » K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ aAQ9 E ~~45~ aA7543
W 3 ~~~~ W ~~45~
# 23 aT9 3NN5 660 Mean: 3NN5 660 00 6 ||#24 & JT53 3DE5 -150 Mean: 3DE5 150 6.0 1
v Q2 3NN5 660 660 v 82 3NE4 -430 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 K Dif: 280 NS:6 3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: 7 EW:2
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 * 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W-~4~~3
# 25 & ATI75 6CS7 940 Mean: 6CS7 940 50 2 ||# 26 a J32 3DW3 -110 Mean: 3DW3 110 1.0 1
v 52 6CN7 940 760 6CN7 940 50 1 v A9763 4CS-3-300 -130 2DW3 410 1.0 2
*3 Dif: 0 NS:5 6CS6 920 4.0 2 + 4 Dif: 190 NS:1  2DW2 90 1.0 2
& AK732 IMP: 0 EW:-5 5CS-1 50 130 1 & AT53 IMP: 5 EW:5 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 + v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 4CW4 130 Mean: 4CW-2 100 40 1 # 28 a J97 4SE-1 50 Mean: 4SXE-2 300 80 1
v KQT864 4CW-150 -40  4CW-1 50 30 1 v J54 4SXE-2300 -50  4SE-1 50 30 1
+ A3 Dif: 180 NS:-3 2SS-1 -50 00 1 + AJ63 Dif: -250 NS:3 3SE3 140 3.0 2
» K52 IMP: -5 EW:-3 3CW3 110 20 2 » 962 IMP: -6 EW:-8 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 3.0 1 ||s Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W-~1~3-~




v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: 5 Cyclops(42.06) #3: 3 [E].(40)
3 INS: HHREE BEZEHAEAC) 0 1 NS: REF =3¢ #E(B0) 0 VP:| 9.67 10.33| Total VP: 40.00 Rank:
EW: #BGRE B (3E0) 0 EW: $E{_# MEFR(BAC) 0 IMP:| 26 27 3
I
# 15 » AJ632 5HE5 450 Mean: 5DW5 -400 20 1 ||# 16 . T7642 4DS-3 150 Mean: 3HW-1 100 60 1
vid 4HE5 450 -470  5HES5 450 1.0 2 3HW4 170 -140  2SN2 110 6.0 1
* AJ Dif: 0 NS:1 4HE5 -450 1.0 2 o KQ Dif: -20 NS:-1 4DS-3 150 0.0 1
» JT984 IMP: 0 EW:-1 5HXE5 650 5.0 1 » AJ832 IMP: -1 EW:0 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W~~3~2
#17 » AK5 4CXW-7 -1700 Mean: 4CXW-7 1700 150 1 ||# 18 » T632 5DN6 -620 Mean: 3NS6 690 80 1
v AK853 3NS3 -400 600  3NS3 400 50 2 v KQ6 2HS5 -200 340  5DN6 620 7.0 1
¢ 64 Dif: -1300 NS:-5 3NN4 430 50 1 ¢ J9732 Dif: -420 NS:-4 2HS5 200 40 2
» K83 IMP: -16 EW:-15 3NN3 400 50 1 aJ IMP: -9 EW:-7 3DN6 170 50 1
s Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
a J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~ ~~~~ W ~~~~~
#19 & K53 4HN-2 100 Mean: 3SE-2 200 40 2 [|# 20 a 32 3CN-1100 Mean: 2HW-2 200 70 1
v AK83 2HN3 -140 70  3CN4 130 20 1 v Q 2NS-1100 -80  3NS-1 100 1.0 1
* K2 Dif: 240 NS:2 2HN3 140 20 1 ¢ KQJ43 Dif: 0 NS:-1  3CN-1 100 1.0 1
» 7652 IMP: 6 EW:5 4HS-2 100 50 1 » QJ874 IMP: 0 EW:1 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 »J76 N 22~~1 v KJ9
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W~~~~~
#21 » KT 25S2 -110 Mean: 2SS4 170 40 1 ||# 22 » K92 4HW5 650 Mean: 4SW4 620 1.0 1
v K987 28S2-110 30  2sS2 110 20 3 v 52 4SW4 620 -660 4SE4 620 1.0 2
¢ JT863 Dif: 0 NS:2 2NS-1 100  -40 1 o AQT432 Dif: 30 NS:1 4HW5 650 0.0 1
» J6 IMP: 0 EW:-2 3NS-2 200 -6.0 1 & QT IMP: 1 EW:0 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
oo VAN o AJ63 P OIVABN o5
N ~1~21 v54 N ~3~~~ » K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ aAQ9 E ~~45~ aA7543
W 3 ~~~~ W ~~45~
# 23 aT9 3NN5 -660 Mean: 3NN5 660 00 6 ||#24 & JT53 3NE4 430 Mean: 3DE5 150 6.0 1
v Q2 3NN5 -660 660 v 82 3NE4 430 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 K Dif: 0 NS:-2 3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: 0 EW:2
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 * 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W-~4~~3
# 25 & ATI75 5CS-150 Mean: 6CS7 940 50 2 ||# 26 a J32 2DW2 90 Mean: 3DW3 110 1.0 1
v 52 6CS7 -940 760  6CN7 940 50 1 v A9763 2DW3 110 -130 2DW3 110 1.0 2
*3 Dif: 990 NS:5 6CS6 920 4.0 2 + 4 Dif: -20 NS:1  2DW2 9 1.0 2
& AK732 IMP: 14 EW:13 5CS-1 50 130 1 & AT53 IMP: -1 EW:-1 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 + v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 3CW3 110 Mean: 4CW-2 100 40 1 # 28 a J97 3SE3 140 Mean: 4SXE-2 300 80 1
v KQT864 4CW-2 -100 -40  4CW-1 50 30 1 v J54 3SE3 140 -50  4SE-1 50 30 1
+ A3 Dif: 210 NS:4  2SS-1 -50 00 1 + AJ63 Dif: 0 NS:-3 3SE3 140 3.0 2
» K52 IMP: 5 EW:2 3CW3 110 20 2 » 962 IMP: 0 EW:3 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 3.0 1 ||s Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W-~1~3-~




v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: 5 Cyclops(42.06) #3: 3 [E].(40)
4 INS: S R (BHO) -12 5 NS: &% EIEEEIC) -8 VP:| 9.34 : 10.66| Total VP: 53.56 Rank:
EW: E:E{_ ﬁ%ﬁ(ﬁﬁ@ 8 EW: 5#E S5E(F0) 12 IMP:| 30 32 1
# 15 .AJ632 5HXE5 -650 Mean: 5DW5 400 20 1 [|#16 . T7642 2SN2 110 Mean: 3HW-1 100 60 1
vid 5DWS5 -400 -470  5HES5 450 1.0 2 4HW4 -620 -140  2SN2 110 6.0 1
* AJ Dif: -250 NS:-5 4HE5 -450 1.0 2 o KQ Dif: 730 NS:6 4DS-3 150 0.0 1
» JT984 IMP: -6 EW:-2 5HXES5 650 5.0 1 » AJ832 IMP: 12 EW:10 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W ~~3~2
#17 » AK5 3NN4 430 Mean: 4CXW-7 1700 15.0 1 ||# 18 » T632 2HS5 200 Mean: 3NS6 690 8.0 1
v AK853 3NS3 400 600 3NS3 400 50 2 v KQ6 3NS6 690 340 5DN6 620 7.0 1
¢ 64 Dif: 30 NS:-5 3NN4 430 50 1 ¢ J9732 Dif: -490 NS:-4 2HS5 200 40 2
» K83 IMP: 1 EW:5 3NN3 400 50 1 aJ IMP: -10 EW:-8 3DN6 170 50 1
a Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
& J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~ ~~~~ W ~~~~~
#19 & K53 4HS-2 -100 Mean: 3SE-2 200 40 2 [|# 20 a 32 2HW-2 200 Mean: 2HW-2 200 70 1
v AK83 3CN4130 70  3CN4 130 20 1 v Q 3NS-2-200 -80  3NS-1 100 1.0 1
* K2 Dif: -230 NS:-5 2HN3 140 20 1 ¢ KQJ43 Dif: 400 NS:7 3CN-1 100 1.0 1
» 7652 IMP: -6 EW:-2 4HS-2 100 50 1 » QJ874 IMP: 9 EW:3 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 »J76 N 22~~1 v KJ9
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W ~~~~~
#21 » KT 3NS-2 -200 Mean: 2SS4 170 40 1 ||# 22 » K92 4SE4 -620 Mean: 4SW4 620 1.0 1
v K987 2SS4 170 30  28S2 110 20 3 v 52 4HXW4 -790 -660  4SE4 620 1.0 2
¢ JT863 Dif: -370 NS:-6 2NS-1 100  -40 1 + AQT432 Dif: 170 NS:1  4HW5 650 0.0 1
» J6 IMP: -9 EW:-4 3NS-2 200 -6.0 1 & QT IMP: 5 EW:4 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
% ¢ VAN ,AJB63 @ OVAN 45
N ~1~21 v54 N ~3~~~ » K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ &aAQ9 E ~~45~ aAT7543
W 3 ~~~-~ W ~~45-~
# 23 aT9 3NN5 660 Mean: 3NN5 660 00 6 ||#24 & JT53 3NE4 -430 Mean: 3DE5 150 6.0 1
v Q2 3NN5 660 660 v 82 3NW3 -400 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 + K Dif: -30 NS:-2 3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: -1 EW:1
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 * 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W~4~~3
# 25 » AT975 6CS6 920 Mean: 6CS7 940 50 2 ||# 26 a J32 2DW2 -90 Mean: 3DW3 110 1.0 1
v 52 6CS6 920 760 6CN7 940 50 1 v A9763 2DW3 -110 -130  2DW3 410 1.0 2
*3 Dif: 0 NS:4 6CS6 920 4.0 2 ¢4 Dif: 20 NS:1  2DW2 90 1.0 2
& AK732 IMP: 0 EW:-4 5CS-1 50 130 1 & AT53 IMP: 1 EW:-1 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 _I_ v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 2SS-1-50 Mean: 4CW-2 100 40 1 # 28 a J97 4HN-2 -200 Mean: 4SXE-2 300 80 1
v KQT864 3CW3-110 -40  4CW-1 50 30 1 v J54 4CS-2-200 -50  4SE-1 50 30 1
+ A3 Dif: 60 NS:0 2SS-1 -50 00 1 + AJ63 Dif: 0 NS:-4 3SE3 140 3.0 2
» K52 IMP: 2 EW:2 3CW3 110 20 2 » 962 IMP: 0 EW:4 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 30 1 ||e Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W~1~3~




v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: 5 Cyclops(42.06) #3: 3 [E].(40)
5 NS: BEZEZZ ISR EAC) -8 4 NS: it %ER(FO) -11 VP:| 10.66 : 9.34 | Total VP: 42.06 Rank:
EW: %ﬂaﬁ gﬁﬁ(ﬁ;ﬁ@ 12 EW: E1{_ BRZA5E(BAC) 8 IMP:| 32 30 2
# 15 Py AJG32 5HXE5 650 Mean: 5DWS5 -400 20 1 ||# 16 . T7642 2SN2 -110 Mean: 3HW-1 100 60 1
vid 5DW5 400 -470  5HES5 450 1.0 2 4HW4 620 -140  2SN2 110 6.0 1
* AJ Dif: 250 NS:2 4HE5 -450 1.0 2 o KQ Dif: -730 NS:-10 4DS-3 150 0.0 1
» JT984 IMP: 6 EW:5 5HXE5 650 5.0 1 » AJ832 IMP: -12 EW:-6 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W~~3~2
#17 » AK5 3NN4 -430 Mean: 4CXW-7 1700 150 1 ||# 18 » T632 2HS5 -200 Mean: 3NS6 690 80 1
v AK853 3NS3 -400 600  3NS3 400 50 2 v KQ6 3NS6 -690 340  5DN6 620 7.0 1
¢ 64 Dif: -30 NS:-5 3NN4 430 50 1 ¢ J9732 Dif: 490 NS:8 2HS5 200 40 2
» K83 IMP: -1 EW:5 3NN3 400 50 1 aJ IMP: 10 EW:4 3DN6 170 50 1
s Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
a J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~~~~~ W ~~~~~
#19 & K53 4HS-2100 Mean: 3SE-2 200 40 2 [|# 20 a 32 2HW-2 -200 Mean: 2HW-2 200 70 1
v AK83 3CN4-130 70  3CN4 130 20 1 v Q 3NS-2200 -80  3NS-1 100 1.0 1
* K2 Dif: 230 NS:2 2HN3 140 20 1 ¢ KQJ43 Dif: -400 NS:-3 3CN-1 100 1.0 1
» 7652 IMP: 6 EW:5 4HS-2 100 50 1 » QJ874 IMP: -9 EW:-7 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 ¢J76 N 22~~1 v KJ4
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W~~~~~
#21 » KT 3NS-2200 Mean: 2SS4 170 40 1 ||# 22 » K92 4SE4 620 Mean: 4SW4 620 1.0 1
v K987 2SS4 -170 30  2SS2 110 20 3 v 52 4HXW4 790 -660 4SE4 620 1.0 2
¢ JT863 Dif: 370 NS:4  2NS-1 100  -40 1 + AQT432 Dif: -170 NS:-4 4HW5 650 0.0 1
» J6 IMP: 9 EW:6 3NS-2 200 -6.0 1 & QT IMP: -5 EW:-1 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
oo VAN o AJ63 P OIVABN o5
N ~1~21 v54 N ~3~~~ ¢ K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ &aAQ9 E ~~45~ aAT7543
W 3 ~~~-~ W ~~45-~
# 23 aT9 3NN5 -660 Mean: 3NN5 660 00 6 ||#24 & JT53 3NE4 430 Mean: 3DE5 150 6.0 1
v Q2 3NN5 -660 660 v 82 3NW3 400 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 + K Dif: 30 NS:-1  3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: 1 EW:2
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 * 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W-~4~~3
# 25 & ATI75 6CS6 -920 Mean: 6CS7 940 50 2 ||# 26 a J32 2DW2 90 Mean: 3DW3 110 1.0 1
v 52 6CS6-920 760  6CN7 940 50 1 v A9763 2DW3 110 -130 2DW3 110 1.0 2
*3 Dif: 0 NS:4 6CS6 920 4.0 2 + 4 Dif: -20 NS:1  2DW2 90 1.0 2
& AK732 IMP: 0 EW:-4 5CS-1 50 130 1 & AT53 IMP: -1 EW:-1 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 + v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 2SS-1 50 Mean: 4CW-2 100 40 1 # 28 a J97 4HN-2 200 Mean: 4SXE-2 300 80 1
v KQT864 3CW3110 -40  4Cw-1 50 30 1 v J54 4CS-2200 -50  4SE-1 50 30 1
+ A3 Dif: -60 NS:-2 2SS-1 -50 00 1 + AJ63 Dif: 0 NS:-4 3SE3 140 3.0 2
» K52 IMP: -2 EW:0 3CW3 110 20 2 » 962 IMP: 0 EW:4 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 30 1 ||e Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W-~1~3-~




v 4 —_—
4 1132 £ >ABHEEFH L ==> R4 4
#1: 4 Catchall(53.56) #2: '5 Cyclops(42 06) #3: 3 B 40)
6 NS: o] B ZE5#EEAC) 6 2 NS: BRE§H BRE8(FH0) 3 VP:| 1244 : 7.56 | Total VP: 34.44 Rank:
EW: REHE HEBGHO) -3 EW: RiE5 BERE(FC) -6 IMP:| 25 17 6
I
# 15 » AJ632 4HE5 450 Mean: 5DW5 -400 20 1 ||# 16 . T7642 3HW3 140 Mean: 3HW-1 100 60 1
vid 5HE5 450 -470  5HES5 450 1.0 2 3HW-1-100 -140 2SN2 110 6.0 1
* AJ Dif: 0 NS:1 4HE5 -450 1.0 2 o KQ Dif: 240 NS:6 4DS-3 150 0.0 1
» JT984 IMP: 0 EW:-1 5HXE5 650 5.0 1 » AJ832 IMP: 6 EW:0 3HW3 140 0.0 1
s T94 a7 » KJ9 # 853 3HW4 470 1.0 1
v AT87 | v KQJ532 v AQ9854 —_ v K63 4HW4 620 -10.0 1
+ KQT4 + 98532 *9 ¢ AJ43
» K3 & A & K97 & T65
%+ VAN 4, KQBS *¢VABN 4, AQ
N 3~~3~ 99 N 11~1~ «JT2
S 3~~3~ o176 S 11~1~ o T87652
E ~45~1 &Q7652 E ~~3~2 a0Q4
W ~45~1 W~~3~2
#17 » AK5 2DXW-2 -300 Mean: 4CXW-7 1700 150 1 ||# 18 » T632 2DN6 -170 Mean: 3NS6 690 80 1
v AK853 3NN3 -400 600  3NS3 400 50 2 v KQ6 3DN6 -170 340  5DN6 620 7.0 1
¢ 64 Dif: 100 NS:-5 3NN4 430 50 1 ¢ J9732 Dif: 0 NS:-5 2HS5 200 40 2
» K83 IMP: 3 EW:7 3NN3 400 50 1 aJ IMP: 0 EW:5 3DN6 170 50 1
s Q3 » JT842 2DXW-2 300 -7.0 1 ||& 9854 s KJ 2DN6 170 50 1
vJ v QT642 v J54 I v 983
¢ AKJ8732 . ¢ T54 + K6
a J75 & 642 & T85 & AK7432
d VBN 4,976 S VABN 4, AQ7
N 4~2~3 997 N ~6655 v AT72
S 3~2~3 ¢QT9% S ~6655 ¢ AQS
E ~~~~~ » AQT9 E ~~~~~ » Q96
W ~ ~~~~ W ~~~~~
#19 & K53 3SE-2 -200 Mean: 3SE-2 200 40 2 [|# 20 a 32 3NS-2200 Mean: 2HW-2 200 70 1
v AK83 3SE-2-200 70  3CN4 130 20 1 v Q 3NS-1100 -80  3NS-1 100 1.0 1
* K2 Dif: 0 NS:4 2HN3 140 20 1 ¢ KQJ43 Dif: 100 NS:-1  3CN-1 100 1.0 1
» 7652 IMP: 0 EW:-4 4HS-2 100 50 1 » QJ874 IMP: 3 EW:3 2NS-1 100 1.0 1
& Q42 & AJT87 4HN-2 100 -50 1 ||e KQJT # 764 3NS-2 200 -30 2
v Q2 v T954 v A8752 + v T63
+ A8753 ¢+ 64 ¢ 752 ¢ T96
» 983 * QJ &5 & AKT3
o ¢ VBN 49 o VABN 4 A985
N 4~2~1 »J76 N 22~~1 v KJ9
S 4~2~1 ¢QJT9 S 22~~1 ¢ A8
E ~~~1~ &AKT4 E ~~~~~ » 962
W ~~~1~ W~~~~~
#21 » KT 2SS2 -110 Mean: 2SS4 170 40 1 ||# 22 » K92 4SE6 680 Mean: 4SwW4 620 1.0 1
v K987 2NS-1100 30  2SS2 110 20 3 v 52 4SE4 620 -660 4SE4 620 1.0 2
¢ JT863 Dif: 210 NS:-4 2NS-1 100  -40 1 0 AQT432 Dif: 60 NS:1 4HW5 650 0.0 1
» J6 IMP: -5 EW:-2 3NS-2 200 -6.0 1 & QT IMP: 2 EW:1 4SE6 680 1.0 1
a7 & Q542 & JT74 & AQ863 4HXW4 -790 40 1
v AQJ3 v T62 v AQJT94 — v 83
¢ 95 ¢ AK42 ¢ K8 *7
» KT8752 & 43 & J & K9862
% ¢ VAN ,AJB63 @ OVAN 45
N ~1~21 v54 N ~3~~~ » K76
S ~1~21 «+Q7 S ~3~~~ ¢J965
E 3~~~~ &aAQ9 E ~~45~ aAT7543
W 3 ~~~-~ W ~~45-~
# 23 aT9 3NN5 -660 Mean: 3NN5 660 00 6 ||#24 & JT53 3DE5 150 Mean: 3DE5 150 6.0 1
v Q2 3NN5 -660 660 v 82 3NE4 430 -370 3NW3 400 1.0 1
+ AQT984 Dif: 0 NS:0 K Dif: -280 NS:-2 3NE4 430 20 4
» JT6 IMP: 0 EW:0 » AT9532 IMP: -7 EW:-6
a7 » KQ864 s Q94 s A7
v A7543 + v T98 v9 v AKJT
* 762 ¢ 53 ¢ J98743 ¢ AT52
» K982 & 743 + KQ6 & 874
*¢VAN .AJ532 ¢ VAN 4 K862
N ~5~35 v KJ6 N 1~~1~ v Q76543
S ~5~35 ¢+KJ S 1~~1~ ¢+Q6
E ~~~~~ » AQ5 E ~4~~3 alJ
W ~~~~~ W-~4~~3
# 25 & ATI75 6CS7 -940 Mean: 6CS7 940 50 2 ||# 26 a J32 3DW3 110 Mean: 3DW3 110 1.0 1
v 52 6CN7 -940 760  6CN7 940 50 1 v A9763 4CS-3300 -130 2DW3 410 1.0 2
*3 Dif: 0 NS:5 6CS6 920 4.0 2 + 4 Dif: -190 NS:-5 2DW2 90 1.0 2
& AK732 IMP: 0 EW:-5 5CS-1 50 130 1 & AT53 IMP: -5 EW:-1 4CS-3 300 50 1
A J432 » Q86 & Q9 & A754
v KJT v Q98763 JT2 + v KQ4
+ K74 — ¢ QT2 ¢ KQJT73 ¢ 85
» T98 aJ & KJ & 7642
o OVAN oK ¢ VAN 4, KT86
N 74~~3 vAd N 2~12~ ¢85
S 74 ~~3 ¢AJI865 S 2~12~ ¢ A9%2
E ~~~~~ » Q654 E ~2~~1 Q9
W ~~~~~ W ~2~~1
# 27 & 52 4CW4 130 Mean: 4CW-2 100 40 1 # 28 a J97 4SE-1 -50 Mean: 4SXE-2 300 80 1
v KQT864 4CW-1-50 -40  4CW-1 50 30 1 v J54 4SXE-2 -300 -50  4SE-1 50 30 1
+ A3 Dif: 180 NS:3  2SS-1 -50 00 1 + AJ63 Dif: 250 NS:8 3SE3 140 3.0 2
» K52 IMP: 5 EW:3 3CW3 110 20 2 » 962 IMP: 6 EW:-3 4HN-2 200 -40 1
& QJ874 s A 4Ccw4 130 30 1 ||e Q84 & KT6532 4CS-2 200 -40 1
v A5 v 973 v Q9 I v K32
T + QJB76 ¢ 8542 ¢ KQT
» AQT97 & J843 » KQT4 8
% ¢ VBN 4KT963 FOVAN LA
N ~12~1 »J2 N 2~2~~ ¢ AT876
S ~12~1 ¢K9542 S 1~2~~ ¢97
E 3~~~~ a6 E ~1~3~ aAJ753
W 3 ~~~~ W-~1~3-~




